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1
Introduction

The discussion on MEAN_BEP undertaken by GERAN1 resulted in the very generic drafting of three possible test cases, where

· Test 1 is admittedly basic

· Test 2 is possibly close to the GERAN3’s existing assumptions, but in this case it will help to raise some of GERAN1’s basic concerns

· Test 3 is to some extent a new proposal that needs to be evaluated

Alcatel, Ericsson, Infineon, Motorola, Nokia, Nortel, Philips, Qualcomm, Siemens  participated in the discussion

2
Draft Test Structures
2.1 
Test 1


Compare

( = Average of the MEAN_BEP reports sent by the MS

And

( = Long-term BER average computed at the system simulator

2.2
Test 2

Compare  

( = Each single MEAN_BEP report sent by the MS

And

( (respectively) = Average BER computed by the SS over the same interval/reporting period
on the basis of the looped-back bits
(i.e. with the same forgetting factor used by the MS)
 and mapped to MEAN_BEP according to the rules of TS 05.08 



Considerations

a) The forgetting factor may be too high, i.e. not enough blocks may be considered for the computation of a single report. 

b) Point a) seems to be true particularly if it is true that the opening of the loop to send the report from the MS to the SS means that the SS is not receiving one block that otherwise would be looped back. This is even more important if the always-missed block is also the same one that ends up having the largest weight in the MS computation.

c) If points a) and b) apply, then the forgetting factor needs to be reduced. However, that would be equivalent to a relaxation of the requirements of TS 05.08. To compensate that, a shrinking of the expected MEAN_BEP interval (cfr section 8.2.5 in TS 05.08) would need to be considered

d) The assessment of points a) and b), and eventually an educated consideration of the items of point c) require the undertaking of a simulation effort.
2.3 
Test 3

Compare  

( = Each single MEAN_BEP report sent by the MS

And

( = Long-term BER average computed at the system simulator

This test would require the comparison to be performed after all reports and looped-back bits have been received, as only at that point in time ( can be computed.

The comparison would rely on certain tolerance parameters, e.g. 

· The comparison is to be declared successful if ( falls within a certain range around (, where the range is tbd

· The test is successful is at least a given percentage of comparisons is successful, where the percentage is tbd

An evaluation of Test 3 and an eventual quantification of the above parameters (range, percentage, …), requires the undertaking of a simulation effort

